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Task 3 

Questions 11-15 

11) When was Mathew Lyndhurst born? 

a) In 1966.  b) In 1967.  c) In 1968. 

12) What is his occupation? 

a) Makeup artist.  b) Businessman. c) Set designer.  

13) What degree does he have? 

a) Theatre art  b) Academy.  c) Business. 

14) How many awards has he got? 

a) 3   b) 9   c) 12 

15) Who is his favourite actor? 

a) Brendon Fraser  b) Jack Nicholson c) Robin Williams 

 

Task 6 

For each question (26-30), choose the answer (A-G) that best completes the sentence. 

Polar bears – Fact file 

Polar bears, the largest land meat-eating animals, feed mainly on seals (0) _H_ sometimes on the 

meat of dead whales and walruses. When there is no other food, polar bears will eat (26) ___ animal 

they can get, including fish and birds. 

Polar bears need an average of 2 kg of fat per day (27) ___ get enough energy for the day. They have 

42 teeth, (28) ___ they use for catching food and fighting. Hibernating polar bears do not eat. 

Polar bears have large paws that act (29) ___ snowshoes when they move over ice and snow. Each 

toe has a thick, curved claw. The claws (30) ___ used for catching food and climbing on ice. Long hairs 

on their feet also help prevent slipping. 

A) to 

B) an 

C) are 

D) like 

E) which 

F) any 

G) such 

H) and 


